Trial of the fitting between data & model
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Since the error is big (due to its statistics), the
obtained chi2 is really small. Erroris calculated
1

from root square, and poisson may be better.
Now just trying to fit the other angles and then
make a chi2 plot (in 2D ?) 11/07/2019



The others

Latex (for memo )

-- have tried a bit. | am not quite sure about Livetex... but

-- at Ixslch, if | comment out “fynmp” at the beginning, it was
fine.

-- at my local (Debian9), the compilation was fine if a logo
picture is converted to pdf file. (This error did not happen in
Ixslc6, therefore, it really depends on libraries )



